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MASTER OF ARTS EXAMINATION, 2022
(2nd Year, 4th Semester)
PHILOSOPHY

[ PHILOSOPHICAL APPROACHES TO CONSCIOUSNESS :
INDIAN AND WESTERN |

Time : Two Hours Full Marks : 30

S

Answer either in English or in Bengali.
Group - A

How can it be shown on the basis of the mahavakyas that
one consciousness is pervaded among all individuals? If
one and the same consciousness is present in all, how can
the differences among individuals be explained? Explain
following the Upanisads. Is this consciousness only

cognitive in character? Discuss. 5+5+5=15
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Discuss whether there is any similarity or dissimilarity
between the Upanisadic and the Buddhist account of

consciousness. Following the Abhidharma Buddhist
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tradition, state how consciousness about external objects
occurs. If consciousness is regarded as the only real
entity, is it possible to explain the laws regarding space
and time? Discuss from the Buddhist perspective.
4+6+5=15
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Group - B

Discuss James’ areguments in favour of the view that
thought is in constant change. Do you find these
arguments to be acceptable? Discuss in this context
whether this feature of consciousness can be incorporated
in Descartes’ theory of consciousness without involving
any theoretical problem. 9+3+3=15
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Explain critically the claim that qualia and consciousness
are coextensive. How does Searle show that there is a
close relation between qualia and subjectivity of
consciousness? Do you find any affinity between Searle’s
view and James’ view in this regard? Discuss.
10+3+2=15
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